2021 5 FE 1 SB7EE

%5 B RIRBUILE
54 R—FREOMEE
F—J—R . TR, MABER, RMIBR,
Ay — iR

FEERE  BRRODA—FRREHEATES,
RIMIERICETET A EMEDRE

5 BIREUSE
5.4 R—FERDOHUE

TADELHEDRE R

[#1] 1+s 1-s
Gl = gy @0 = g
TALY
. 1+ jw 1+ jw 14 w?
Ga(je)| = \2 jwl | J Y o
(jwP+jw+1l [1-w?+jw |1-w?+juw
e . .
T |G2(jw)] 5[
{48

ZG1(jw) = Z(1 + jw) — £(1 — &? + jw)

RIZOVWTERET 5, , ‘ .
£Gy(jw) = Z(1 — jw) — £(1 — w? + jw) 257
1 2
w=0 20 B/IMIER REAVATFLTHAOFRREEEELHL
Z£G1(0) = £G2(0) = 0° z 0 TAUDLUEN—EIZEES.
o N R—KD4 (> - HiARRIERR)
) X . 180 [ dM
/G (jw) & Zjw — Z(—w?) b 40 ZG(jwr) = ?/ T Wu 10
o du
= 90° — 180° = —-90 -60 5 ] - ) <0) J‘E 8
) . ; 10 10 10 10 10 &6
LGs(jw) m L(—jw) = £(—w7) Y ar -
0 (a) 7143 E u=In(w/w) ERCARRE 4
xf*gq:a)_;fg — 180° = —270 M =h|G(jw)| REFI> 2
N EF R L 33 0 v
gaomy Aoy LHAENS| o W =In(coth(|ul/2)) EHBE O\ G e
B 90 o/,
& M
-180 (’0; HEh, MEEBARNBERYVELIZELEDTSIUHRDES
........ u
D70 g g o 2
10 10" 10° 10" 10° / Wdu = % (w=uw TE—%)
w
(b) frAEHRE 3 o 4
(dM/du —EDEE) - K
LC(n) dM 180 [ W —_ —20 dB/dec n=_2082 — 20 "\ —40 dB/dec
jwy) & —— — /dv /M y 2 i
T du 72 J_ ! f% 0.lw; <w < 10wy T (Zﬂ =2 ‘:;' Ok (R
AM 18072 dM . | & b Q B
= = E 5 20 1 |
et Sl kLU BN | ET5HE N .
=n x 90° _4|00'Z 10" 1?0 10" 107 —40 dB/dec = £G(jw1) = —180° _41('})'3 10" l10'J 10 10
n=—10&x (a) A 45E (a) A 15E
90 2EENR 90
01wy < w < 10w, T ‘Zﬂ =-1 0 2 Rk (BRBE) S
U o °
m -90; m -9
ETBHE 5 ]
-180)| -180:
—20 dB/dec = Z£G(jwr) = —90°
27015 e 270 T T e
*Eﬁ\%\ 10 10 L() 10 10 10 10 19 10 10
| RF (R (&) f1E 4 (o)t B




20214F E HIE TEA11 587 E &

5 BIREUSE
5.4 R—FERDOHUE

R—FRRDF| = BRERATRT
[FA4FT7] AV ®AERT—IL
GifR: R AT—IL

G(s) = G1(s)G2(s)Gs(s) (EINFER)

Gi(jw) = el (i=1~3) &8¢

G(jw) = (rlejgl) (T26j92) (7‘36103)

G(]w) — TCje — 7-17-27-36,7(91+92+93)

201log |G(jw)| = 20log r = 20log(rirars)

= 20logry + 20logra + 20log ;s

3 3
= 220 logr; = 220 log |G (jw)|
i=1 i=1

LG(jw):0:01+92+6’3
K 3

3
= 0= ZGi(jw)
i=1 =1

— T1T2T36j(91+62+93)
=r - BIREDLE, AU LABE B
= rel? mz&HhehlEL
7 8
T4 K{gbt%(ﬁgégif) K =100 G*l s (J‘Et = . Y
i S K= AT L) DIR—RERE
SE A IS TABE (Ao 0H) V) ®) OEL
. K =
G(jw) = m (T'=1) ,?, .
Q o %
=0 ap] 1
+20
20log | | = —20log |G (jw
+40 [dB] [ g =17 (x10) g G(JUJ)‘ g |G (jw)|
(x100)
K =10 (O]
Gi(jw) = —L Lo = /G
R > GGw) = 400
Ga(jw) = T jw 10Gy E -
B RTLTIE, AV EA T I
(Gl = 01og 10 + 20 log G 1 FEORATLTIE, A LMBOFESERER
LGy =210+ LGy = £LG,y w
(b) frfEsE
9 10
%51 ERAEROK—FEE #1511
G(s) FA R ] 100(s + 1)
dB 1__201og[K] G(s) = SH10) G1(s) - Ga(s) - Gs(s) - Ga(s)
K 0° @ 1
0 w =10~ — - (54+1)
FIE ; o0 s 0.1s+1
£l 0 w
: 20dB/dec 0° w
40 60
1 dB N\ ~20dB/dec P
s 0 w ) _ 20 40
/M
4B 1 20dB/dec 90° w =, "
Z A
Ts+1 o _4 . o Q
1T 0.2/T 5/T ®_20 0
1 a1 17 o 02/T 5/T
— w w —40 20
Ts+1 gﬂdB/dm o S 102 107 2())" 10" 10° 102 10" ig" 100 10°
w? dB y ni w 512 FERDTAARE 5.13 G(s)DT A AR
52+ 20wns + w2 oo . 11 (€iie gk - Sigl) HFNRIEL) 12




2021 5 FE 1 SB7EE

SEEERHREI5](b)

40

SEEE R0

s+10 52— 3s+1
105 + 1 s Gy $2+3s+1
5+10 1 2 ‘@
G(s):)—:()—>~(s+10)j§:n - i Nk _ 1
W0s+1 A10s+1 ki 5 AR e vy el Gl Ay v
= (1031_,'_*1) (0.1s+1) - 10 o 5% ¢ Gi(s) Ga(s)
~—""L TGys) G -l il ‘
Gl(s) 2(6) 3(5) 102 10 10° 10° 102
' o i 40 —r o (1'2
T [ 1/T | 0.2/T | 5/T e o
Gi(s) [ 10 [ 01 ] 002 | 05 - ) i i
Ga(s) | 0.1 10 2 50 = G Eué £
b—: ; G‘ -% ;‘ == ‘i‘/ U
Wi e,
10 10 10 10! 10°
13 14
. CEREESR 10
R—FREOF = L _
G(s)=e* o
c VAT LEEIHEALIZLOOR—FRRIER S XTLO SF—3i Qo
R—FHEEZEIIMAEHE ST TELNS. &
—ep . 1= Ls/2
R . o= i T 14 Ls/2 »
HFNBEBNBRR T, VAT LOBRISEE ‘ Qo2 0T, 10
BELGRETES. —sp o, 1= Ls/2+ (Ls)*/12 (@) FAHE
1+ Ls/2+ (Ls)2/12 0 ‘ ‘
- BMIBRTIE, 44 HERD SHABEROBIA DS, L am TEESR
e ’ -
z
BV EREEEE T RORETRAS. m . & 40
T Re
BT R—FREE K EL RS THA. N7 60—
[0}
(b) {4R#RE
15 16

F5E FRBICE
54 R—FREDOMEE
F—J—K . TAUHR, AR, S/OER,

TAY—ARRERR

FEBR  BRRODR—FREEHENTED,
R/MIHRICEITST A EEDRES
RIZOWTEET D,




